HDL Idioms

Exercise 1: Using the schematic symbols shown below, convert

each of the following System Verilog expressions into a schematic.

// assume the following declarations: {:>0 b

logic a, b, c, reset, up, down, oe ;

logic [15:8] ®x, v, y_next ; | ) P

logic [3:8] =z ;
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Exercise 2. Using the schematic symbols shown above, convert \ )
each of the following System Verilog expressions into a schematic E'“ ; ,,.‘,’aJ
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/| shift register —~f

assign y_next = {y[14:8],a} ;°=——————;(Z:

always_ffd(posedge clk)
y = y_next ;
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/! FF showing if y (above) is even
assign a_next = y_next [15]

always_ffi(posedge clk) .%::jr___

a = a_next ;
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/! counter with reset and count enable
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always_ff@(posedge clk)
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/] counter with resetAnd count enable
assign y_next = reyet ? '8 .
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or—w-«lv"*" y_rent
OO0 61 000 0_ oolooom f 3

%ES-D




Exercise 3: Write System Verilog that would generate each of the
following schematics. Include any required signal declarations (us-

ing logic). . '
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